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INSTRUCTIONS

Each question is printed both in English and in Kannada.

Ancwere must be written in the medium specified (English or
Kannade) in the Admission Ticket issued to you, which must
be stated clearly on the cover of the answer book in the space
prouvided for this purpose. No credit will be given for the
answers writien in a medium other than that specified in the
Admission Ticket. In case of any doubt in the Kannada text,

please refer to English text.

This paper has jour parts .

A 20 marks
B 100 marks
C 90 marks
D 90 marks
Marks allotted to each question are indicated in each part. | e

All questions in Part A, Part B and Part C are compulsory.
Answer any three questions in Part D.
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Answer each question in about 50 words. Each question carries b M

1. (a}
(b}

(¢}
(d)

{2)

PART A

Enumerate the basic features of the Civil Service in Indig.

Discuss the advantages/disadvantages of the Departemntal Systeun,
in India.

Enumerate the main features of Performance Budgeting in Indja,

Explain the significance of the Central Services (Conduct) Rules of
1964, '
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PART R 10x10=100

Answer each question in about 100 words. FEach question carries
10 marks.

What are the techniques of O and M in India 2
What are the terms of reference of the Finance Commission in India ?

What is the role of the National Development Council in the plauning
process ? :

What is meant by the “Merit System” ? Is it a feature of the Indian
administrative system ?

Is the term “Steel Frame” still an adequate term to describe the Indian
Administrative Service in India ?

What is the role plaved by the Auditor and Comptroller General of India ?

What are the principal characteristics of a Public Corporation which make
it perferable to the departmental form of organization ?

Explain Parkinson’s Law of Organization and its relevance in
understanding the Indian Administrative Service.

Identify the major policy formulation organs in the Indian government.

10. What are the functions of the Integrated Tribal Development Agency ?
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ot B 10x10=10
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PART C Ex15=00

Ansiner  each  question in about 150 words. Each question carries
15 marks. '

The system of recruitment to the Indian Administrative Service was
described in the immediate post-independence era as “not imaginative and

aggressive enough”. Is this true today ?

Describe the working of parliamentary control over delegated legislation in

.India,

With the establishment of Panchayati Raj as a third constitutional tier of
government, has the role of the DisLrict Collector/Deputy Commissioner
undergone change ?

Has the Integrated Rural Development Programme (IRDP) contributed to
poverty alleviation in India ?

Analyse the advantages of the Generalist versus the Speeialist in
administration in the Indian context.

The Planning Commission was described as a “Super-Cabinet”. Does it
still retain its importance today ?
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PART D Ix30-90

6.

_CF!

Answer any three of the following questions, each in about 300 words.

Each question carries 30 marks.

What, according to you, are the main legacies of Colonialism in the
functioning of the administrative services in India ?

Discuss the working of financial relations between the Central and the
State governments in an era of liberalization.

Wilh the establishment of the Prime Minister’s Office (PMO), India no
longer has a Parliamentary but a Prime Ministerial system of governiment
today. — Comment.

Has the shift to the departmentally related subject-based Committees
enhanced Parliamentary scrutiny over departments and contral over the
executive ?

Neutrality is a highly desirable feature of the Indian Administrative
Service, — Discuss.
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